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QUESTION 1

Record Count property is set to zero in Connector stage. How many rows are written out?
A. All Rows

B. One Row

C. Zero Rows

D. 2000 Rows

Correct Answer: A

QUESTION 2

The APT_SubProcessOperator is used for what purpose?

A. It allows you to incorporate a third-party executable into the framework

B. It provides the capability to break predefined operators into sub processes

C. It provides the capability to define custom operators at the sub process level

D. It allows you to incorporate composite operators, which contain more than one operator

Correct Answer: A

QUESTION 3

Given this configuration file: Which of the following describes the resulting behavior for a job consisting of Row
Generator -> data set?
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node “Conductor”
{
fastname “is1”
pools “conductor”
resource disk “/NAS/Datasets” {pools’’}
resource scratchdisk “/scratch” {pools™’}

}

node “node2”
{
fastname “is2”
pools™”
resource disk “/NAS/Datasets” {pools’’’}
resource scratchdisk “/scratch” {pools”’’}

A. Conductor, section leader and player processes are executed on the server isl and is2.

B. Conductor process is executed on the server isl. Section leader and Player processes are executed on the server
is2.

C. Conductor and section leader processes are executed on the server isl. Player processes are executed on the
server is2.

D. Conductor process and player processes are executed on the server isl. Section leader process is executed on the
server is2.

Correct Answer: C

QUESTION 4
By default, how much internal memory does the Sort use per partition?

A. 10MB
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B. 20MB
C. 25MB
D. 30MB

Correct Answer: B

QUESTION 5

Which of the following statements about real time job design is TRUE?

A. DSJoblnvocationld is not required for the target sequential file.

B. A non-Multiple Instance DataStage job can be activated for ISD service.

C. A DataStage job must have an ISD Input stage, but an ISD Output stage is not required.

D. The Information Services Director server starts job instances on one or more DataStage servers for load balancing
and scalability.

Correct Answer: D
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